
ROOF
ATTACHMENTS

Ground Mount

GROUND 
MOUNTED

FLAT ROOF

ACCESSORIES

CrossRail

Shared Rail

Tilt Up

MiniRail

PITCHED ROOF

SYSTEM

D Dome

Tilt Up

GENERAL

Product Catalog 02/2019
5554

Accessories
Nuts and Screws

Hex Flange Nut

Part Number Description Box Qty 

4000571
4000614

T-Bolt 28/15 M10x25 SS
T-Bolt 28/15 M8x20 SS

Material: Stainless Steel

100

T-Bolt

Part Number Description Box Qty 

4000042
4000043

Hex Flange Nut, M10, SS
Hex Flange Nut, M8, SS

Material: Stainless Steel

100

Lag Bolt 

Part Number Description Box Qty 

4000359 Lag Bolt D145/16x4“ SS Material: Stainless Steel

100

JF3 MiniRail Screw w/ EPDM SW8 6x32mm
Part Number Box Qty

4000672
Material: Stainless Steel

Sealing: EPDM
Wrench Size: 8mm

100

Wire Management

External Omega Cable Clip

HEYClip SunRunner Cable Clip

Part Number Box Qty 

4005394
Material: Polyamide

Finish: Black

100

Part Number Box Qty 

4000382 Material: Stainless Steel

100

References

Our T-Bolt is a recurring part used in virtually all of our systems. It comes in two different 
sizes and is paired with our Hex Flange Nut to secure it to our systems.

Our Hex Flange Nut is used in virtually all of our systems. It will soon be transitioning to 
1/2” socket, so that contractors can use one less tool to install our systems.

Our lag bolt is used to secure our systems to the roof rafters.

This is our self-tapping screw with an EPDM backing that is used to secure and water-
proof the MiniRail XPRess System. The JF3 screw can be used with a minimum of 29 
gauge metal roof.

The Omega Cable Clip is a third-party polyamide wire management clip that is simple 
to install and very durable.

The HEYClip is a third-party stainless steel wire management clip that is simple to 
install and durable.


